MAIRCY

UTILITY BENCH
SB-8062

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
240404







> ©

@

(= - ©

(28) x1 x15

@ ' ©

s

= ) AN
oo

< () ”

@3 e

o 10 20 30 40 50 60 70 8 90 100 110

O©IMPEX INC. Www.marcypro.com



88 X 1

O©IMPEX INC.

6 X 1

L

n)

—

@~

@)

A4
GN

0

200 210 22

190

|
K

IJIIIIJII|IJ

‘IIIIIIIII

WWW.marcypro.com



O©IMPEX INC. www.marcypro.com



M10%6 }5"

x1

®

M12x7 J5"

x1

I

1"
M1

WWW.marcypro.com

O©IMPEX INC.



M10x3 %"

x3

M10

%3

@ o4

(578

x6

WWW.marcypro.com

O©IMPEX INC.



M12x8 ¥5"

x1

LU0

M12x4"

x1

@xz M12

WWW.marcypro.com

O©IMPEX INC.



M8x2 34"

x4

I —

M8x3/4ll

x4

q)5/8 "

8

WWW.marcypro.com

O©IMPEX INC.



O©IMPEX INC. Www.marcypro.com



	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

